[image: image1.png]You will need to complete these problems on a separate piece of paper.
Note: You might need to recall concepts studied earlier in the course in order to
solve some of these problems!

1. A tree (standing perpendicular to the ground) casts a 32-foot shadow at the same time that a

yardstick (standing perpendicular to the ground) casts an 8-foot shadow. How tall is the tree?
(Some people need the reminder that a yardstick is 3 feet long.)

. Which of the following pairs of triangles are similar? If they are similar, explain why.
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. Find the measures of the missing sides. If you use properties of similar triangles, you must
first establish how you know the triangles are similar.

a. Note: GI = 6. Find FH, HI, EG, and EI.
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b. RS=4.5;8T=7.5;RP=9. Find QP and PT.

4. Giventhat AB||CD, BE=1, CD=5, CE=3, and AD =7, find AB, AE, and DE.
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